
�

��������	��	


��	
��������
����	�	���

��������

��� !"�#$
"%&'(%)&*+%),-$.*'%&*/*.-)%0-�'.1%*.),-2+%/'('%.'-

3�+0'(%- ,'.&(+.1'4*.),-
�'.1%+,+5*'6-)%0- 78*94'%&-

:;<=

-

>?@ABCA��A
�D�ECF@�GHA��IJ

K�

LMNO-P-Q	�-���R�

-
�STUVWSXY-
	
-���Z�	[�����Z�\R	
-R	�]����̂�

�	
��������-_��R��	����Z�\R��
����	�	���-�-	̀	���	
����

a

bcdef��Dgh@g�bfKi����
��������j�kA�lEhm��F�nAmF@E�oa

-
a
-
-
-
-
-
-
-

��� !"�#$-
"%&'(%)&*+%),-$.*'%&*/*.-)%0-�'.1%*.),-2+%/'('%.'-

3�+0'(%- ,'.&(+.1'4*.),-
�'.1%+,+5*'6-)%0- 78*94'%&-P

�

pqrstusv�bcdefj�bfKi�
:;<=wj�xsyzu{;��q|�}s{~vz=�

�

�����GA@�GHD�Dh@F�DHF��g��
kA�lEhm����nAmF@E�o��

>?@ABCA��A�Dh@F�DHF��g��nAmD@E����J�
�D�ECF@�GHA��IJ�GA��DmD��?A���J�E��HA@��GAG

-
���R�-
-������\�-

R	�]����̂��-

_��R��	����Z�\R��-
	̀	���	
�����-

"%&'(%)&*+%),-$.*'%&*/*.-)%0-�'.1%*.),-2+%/'('%.'--

3�+0'(%- ,'.&(+.1'4*.),--
P-LMNO�a

�

E��HA@��GAG�-
-



��

�

��������	
����
��
���
�������
����	����	��	��

�
��
�

������������ ���� ��!"�"#�$�"��  �!����%""� "�
�&��'(��)�"��
�*+,-./+01� 2340+235� 6-7289+.3293:� 9+8;93<
,-=9/;->43:�439?-.-9@//��A�6/9>4�
��BC�D�������A�	�E�>��

FGHI�J�E<JE
<
	�<��
<��
�
�K3.9/4�>3>,+50-9�L3�*+,-./+0+*�2340+235�*-7289+.3293:�9+<

8;93<,-=9/;->43:�439?-.-9@//��M�L.-2>,+50-991=�*+,-./+0+=�3,.+<
7-91�>35.-*-991-�,-=9303N//�9+9->-9/��N+0O5+9/;->4/=�L34.1,/:D�
P+Q/,1�*+,-./+035�3,�43..3P//D�935-:R/-�.+P.+K3,4/�5�3K0+>,/�=/<
*/;->4/=�/>,3;9/435�,34+D�L308;-9//�9+93>,.84,8.91=�/�9+93<
.+P*4.91=�*+,-./+035��M�2340+2+=�,+47-�9+R0/�3,.+7-9/-�+4,8+0O<
91-�L.3K0-*1�L-.-.+K3,4/D�8,/0/P+@//�/�.-N-9-.+@//�>,3;91=�532D�
R0+*35�N+0O5+9/;->4/=�L.3/P532>,5��S.-2>,+50-91�>35.-*-991-�
L32=321�L3�.+P.+K3,4-�3K3.8235+9/��20��L.35-2-9/��T0-4,.3=/*/;-<
>4/=�L.3@->>35��
�K3.9/4�.+>>;/,+9�9+�/>L30OP35+9/-�.+K3,9/4+*/�/�9+8;91*/�

>3,.829/4+*/D�P+9/*+UQ/*/>��53L.3>+*/�5�3K0+>,/�T0-4,.3=/*/;-<
>4/=�,-=9303N/:D�>/9,-P+�9351=�*+,-./+035�20��=/*/;->4/=�/>,3;<
9/435�,34+D�N+0O5+93,-=9/4/�/�3K.+K3,4/�L35-.=93>,/D�+>L/.+9,+*/�
/�>,82-9,+*/�>33,5-,>,58UQ/=�>L-@/+0O93>,-:��
�
�
�
�
V-2+4@/399+��4300-N/�
��
B0+591:�.-2+4,3.�������������.-4,3.D�2<.�,-=9��9+84�W�M��M3:,35�
X0-91�.-24300-N//
���������S3;-,91:�.-4,3.D�L.3?�D�4+92��=/*��9+84�

W�6��Y+.>4/:�
P+5��4+?-2.3:�ZDC[ZS/6[CD�23@�D��
4+92��=/*��9+84�\�\��X-.9/4�

�
�
]̂_̀ �abcdacedefgdhiedj����������k��l�m�-03.8>>4/:�N3>82+.>,5-991:�
�����������������������������������������������������,-=9303N/;->4/:�89/5-.>/,-,mD������

� �


